

CONDOR EARTH TECHNOLOGIES, INC.

17857 High School Road Jamestown, CA 95327 Phone 209.984.4593 Fax 209.984.4596 www.condorearth.com

WORK ORDER AGREEMENT TERMS FOR GEOTECHNICAL, CIVIL ENGINEERING and SPECIAL INSPECTION SERVICES

We are pleased to acknowledge the following work assignment. CONDOR EARTH TECHNOLOGIES, INC., hereinafter referred to as CONDOR, agrees to perform, and CLIENT agrees to pay for services performed in accordance with the scope of work set forth in this WORK ORDER AGREEMENT (AGREEMENT). This AGREEMENT supersedes any and all negotiations, correspondence, or agreements either written or oral

ORDER RECEIVED BY: _	Andy Kositsky		DATE: June 14, 2016
AUTHORIZED BY:	Warren Van Bolt		PROJECT NO.: <u>6865</u>
INVOICE TO:	Summerville Union	High School District	
	Attn: Warren Van I	Bolt	
	17555 Tuolumne Re	oad	
	Tuolumne, CA 953'	79	
NAME OF JOB:	Summerville High S	School Modernization	n – Path of Travel
LOCATION OF JOB:	17555 Tuolumne R	oad, Tuolumne, CA	
SCOPE OF WORK (attach add	ditional sheets as needed): Ma	terials testing and in	spection services, per client's
request on a time and mate			Q
FEES TO BE CHARGED*	\$6,925.50, performed of	on a time and materia	ls basis, per attached Cost
Estimate dated June 10, 20	16, and billed in accorda	nce with Condor's Fe	ee Schedules (attached).
The "Terms for Geotechnical, Civil Er * Fee schedule, if attached, is consider		Services" dated May 7, 20	4, #6865 are part of this AGREEMENT.
The parties have read the foregoing, us below by CLIENT.	nderstand completely the terms, as	nd willingly enter into this A	GREEMENT effective on the date signed
2-1	Alex	CONDOR RAD	TH TECHNOLOGIES, INC.
CLIENT	7	CONDUCERA	TH TECHNOLOGIES, INC.
		- Fina	let h Skugges
By SUPFAINT	5-1CAT	Ву	
Position		Vice Proposition	esident
6-23-11		June 14	, 2016
Date		Date	

CONDOR EARTH TECHNOLOGIES, INC.

Cost Estimate for Materials Testing and Special Inspections Summerville High School Modernization - Path of Travel Tuolumne, CA

Condor Project No. 6865

Date: June 10, 2016

Prepared By: Jim Northcutt DSA File No.: 55-H2
Client: Summerville Union High School District DSA Appl. No: 02-113454

Client: Summerville Union High School District			DSA Appl. No:	02-113454
Description	Rate/ Unit	Unit	Total Cost	Subtotals
Pre-Construction Pre-Construction				
Senior Geotechnical Engineer	\$185.00 /hour	5	\$925.00	
Travel (2 visits @ 1 hr. per visit)	\$185.00 /hour	2	\$370.00	
Vehicle Usage	\$50.00 /day	5	\$250.00	
Mileage (2 visits @ 25 miles per visit)	\$0.50 /mile	50	\$25.00	\$1,570.00
Phase 01 Soils				
Task 01A Field				
Senior Geotechnical Engineer (Keyway Excavation & Slope Stability)	\$185.00 /hour	4	\$740.00	
Travel (2 visits @ 1 hr. per visit)	\$185.00 /hour	2	\$370.00	
Field Density Testing - Soil Subgrade / AB (4 visits @ 2 hrs. per visit)	\$98.00 /hour	8	\$784.00	
Travel (4 visits @ 1 hr. per visit)	\$98.00 /hour	4	\$392.00	
Vehicle Usage	\$50.00 /day	2	\$100.00	
Mileage (6 visits @ 25 miles per visit)	\$0.50 /mile	150	\$75.00	\$2,461.00
Task 01B Lab				
Compaction Curves (ASTM D-1557-C)	\$250.00 /each	2	\$500.00	\$500.00
Phase 02 Concrete				
Task 02A Field				
Rebar Sample and Tag (1 visit @ 1 hr. per visit)	\$91.00 /hour	1	\$91.00	
Field Testing - Sampling w Batch &Follow (1 visit @ 3 hrs. per visit)	\$91.00 /hour	3	\$273.00	
Pick-up Cylinders (1 visit @ .5 hrs. per visit)	\$85.00 /hour	0.5	\$42.50	
Travel (3 visits @ 1 hr. per visit)	\$91.00 /hour	3	\$273.00	
Vehicle Usage	\$50.00 /day	0.75	\$37.50	
Mileage (3 visits @ 25 miles per visit)	\$0.50 /mile	75	\$37.50	
Task 02B Lab				
Lab Testing (Concrete Cylinder Compression - 1 set of 5 cylinders)	\$40.00 /each	5	\$200.00	
Lab Testing (2 bars - Tensile & Bend Testing)	\$130.00 /each	2	\$260.00	
Phase 03 Coordination, Review, Reporting, and Project Management				
Project Manager (2 weeks @ 1 hr. per week)	\$105.00 /hour	2	\$210.00	
Senior Geotechnical Engineer (2 weeks @ 1 hr. per week)	\$185.00 /hour	2	\$370.00	
Administrative Support (4 weeks @ 2 hrs. per week)	\$75.00 /hour	8	\$600.00	\$1,180.00
		TOTAL	L ESTIMATE:	\$6,925.50

Note:



¹⁾ This is not a lump sum. It is a cost estimate. Our client will only be billed for services performed. This cost estimate is based off conversations with Andy K. with Condor, and Mike Martin, the IOR.

CONDOR EARTH TECHNOLOGIES, INC. PREVAILING WAGE SCHEDULE OF FEES 2016

PRINCIPALS/PROJECT MANAGEMENT Senior Principal
Principal Engineer/Geologist
Project/Senior Manager
TECHNICALSenior Tunneling Consultant200.00Senior Geotechnical Engineer185.00Certified Hydrogeologist/Engineering Geologist175.00Senior Geologist/Engineer/Environmental Specialist165.00Associate Geologist/Engineer/Environmental Specialist135.00Staff Geologist/Engineer/Environmental Specialist120.00
Senior Tunneling Consultant200.00Senior Geotechnical Engineer185.00Certified Hydrogeologist/Engineering Geologist175.00Senior Geologist/Engineer/Environmental Specialist165.00Associate Geologist/Engineer/Environmental Specialist135.00Staff Geologist/Engineer/Environmental Specialist120.00
Senior Geotechnical Engineer185.00Certified Hydrogeologist/Engineering Geologist175.00Senior Geologist/Engineer/Environmental Specialist165.00Associate Geologist/Engineer/Environmental Specialist135.00Staff Geologist/Engineer/Environmental Specialist120.00
Certified Hydrogeologist/Engineering Geologist175.00Senior Geologist/Engineer/Environmental Specialist165.00Associate Geologist/Engineer/Environmental Specialist135.00Staff Geologist/Engineer/Environmental Specialist120.00
Senior Geologist/Engineer/Environmental Specialist165.00Associate Geologist/Engineer/Environmental Specialist135.00Staff Geologist/Engineer/Environmental Specialist120.00
Associate Geologist/Engineer/Environmental Specialist
Staff Geologist/Engineer/Environmental Specialist
Engineering Assistant
Field Environmental Services (Group 2)
Draftsperson
MATERIALS TESTING
Material Technician (Group 1)117.00
Material Technician (Group 2)
Material Technician (Group 3)98.00
Material Technician (Group 4)
Senior Materials Technician (non-PW)
SUPPORT STAFF
MTSI Project/Laboratory Manager
Administrative Specialist
Project Coordinator
Technical Editor
Administrative Assistant
MISCELLANEOUS
Overtime (all Saturday work is overtime)(1.3 times base rate)
Double-time (all Sundays and Holidays)(1.7 times base rate)
Litigation Support

NON-LABOR CHARGES

Vehicle charge:

\$50 per day plus 50 cents per mile Laboratory Charges per Condor Laboratory Fee Schedule

Billable Field Equipment per Condor Billable Field Equipment Schedule

OUT-OF-POCKET EXPENSES

Billed at cost plus 15% and includes such items as travel expenses, equipment rental, laboratory fees, subcontractors, postage and freight, subcontracted printing or reproduction fees, supplies, etc.

CALIFORNIA DEPARTMENT OF INDUSTRIAL RELATIONS GROUP CLASSIFICATIONS

Group 1	Group 2	Group 3	Group 4
ASNT Level II-III	AWS-CWI	Geotechnical Driller	ACI
DSA Masonry	ICC Certified Structural Inspector	Soils/Asphalt	Drillers Helper
DSA Shotcrete	NICET Level III	Earthwork Grading	ICC Fireproofing
Lead Inspector	Shear Wall/Floor System Inspector	Excavation and Backfill	Proofload
NICET Level IV	Building/Construction Inspector	NICET Level II	Testing
NDT Level Two			Torque Testing
			NDT Level One





Condor Earth Technologies, Inc.

TERMS FOR LABORATORY TESTING SERVICES FEE SCHEDULE AND STANDARDS

April 2016

GENERAL

It is customary to perform sampling, drilling, testing and certification work in accordance with applicable or designated recommendations of the American Society for Testing Materials (ASTM), American Association of State Highway and Transportation Officials (AASHTO), or other pertinent agencies. Test Standards for routine services are shown to define the test method followed for the charge listed; alternate standards or procedures may be followed at the client's request. When this fee schedule is referenced with intent to contract for field services, Condor's "Terms for Geotechnical, Civil Engineering and Special Inspection Services" is considered a part of these General Conditions. When this fee schedule is referenced with intent to contract for laboratory testing services only, Condor's "Terms for Laboratory Testing Services" is considered a part of these general conditions.

ROUTINE SERVICES

Unit charges listed herein are for routine work only and include a report of results without special comment or analysis of data. These charges include labor, associated equipment, maintenance, and consumable material costs. Services for unit-priced items follow routine procedures typical of the method standards cited, utilize available equipment and are performed within normal time restraints. Unit charges do not include the personnel time associated with:

- Finalized Special Inspection Reports, Summarization or Analysis of Program Test Results
- Coordination with Engineers, Architects and other Program Principals
- Unscheduled Deadline Demands (Accelerated Work)
- Pick up or Delivery of Samples
- Quality Assurance Audits
- Test Program Supervision

Routine charges are in addition to hourly rates for field personnel (billed at our senior technician labor rate). Subcontractor services provided by others, such as drilling services, are charged for at the subcontractor's charge to Condor plus fifteen percent. Unless prior arrangements are made for storage, samples will be disposed of 60 days after date of report.

OTHER TESTING AND INSPECTION SERVICES

Costs associated with unusual or time consuming sample preparation, laboratory consultation, and other work not covered by routine unit prices, will be based on our senior technician labor rate plus expenses. Such sample preparations may include extruding tube samples and processing bulk samples to obtain material for preparing reconstituted specimens. Quotations of probable cost for specific program requirements (including special services, volume discounts, specialized equipment, etc.) will be provided upon request.

LIMITATIONS

Condor's laboratory services are provided in accordance with the listed standard and performed within industry standards. Client agrees, by signature on Work Order Agreement, that Condor is not liable for any claims directly or indirectly related to laboratory services beyond providing the results of the performed tests. Under no circumstances, however, shall CONDOR have any obligation to defend independently or collectively CLIENT or other Indemnified Parties from and against liability for damages that may arise or be attributed to work performed by CONDOR under this Agreement. Nor shall CONDOR have any obligation to pay for or compensate any party for their defense costs or fees.



